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Answer five questions, selecting one from each Unit

UNIT-I

the
1. Define political theory. Discusss

importance of the study of political theory.
3+7 10

2. Explain the nature of political theory. Point
out the distinctions betweenn normative

political theory and empiricalpolitical theory.
5+510
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UNIT-II

theory of the

S+
differ from Thomas

Hobbes with

expositions of social contract theory?
9their

3.
origin

Write a

of

note

the

on

State.

social

Where

contract

does

theor

John Locke

10
heCritically explain the Marxian concept of th.

nature and origin of the State. YA

IN, CAUNIT-III

5. State Austin's theory of sovereignty. Write
the defects of the theory. 6+4=

6. What are the important factors responsiblefor the development of pluralism? What arethe limitations of this theory? 5+5

UNIT-IVV
7. Point out the differences between power andauthority. How does legitimacy determine theeffectiveness of an authority?

5+5-108. Define Legitimacy. What are different types
of legitimacy according to David Easton?David Easton?

9/176 4+6-10
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ANAATYA

3
FS

UN, CNUNIT-V
CMCHA

Discuss
critically the Elite theory of poWer-as

cnunciated by Mosca and Michels.

5+5- 10

the Marxist theory different
from the Elite

theory?

10. Explain the Marxist theory of power.
How is

6+4-10
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